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Pemnre TpuroHomeTpuieckue
ypaBHEHHUs:

2sin® x — Ssinx—7=0
12sin® x + 20cos x— 19 =0
3sin® x + 14sin x cos x + 8cos’ x =0
7tgx—10ctgx+9=0

5sin 2x — 14cos’ x +2 =0

9cos 2x — 4cos? x = 11sin 2x + 9

Peluute TpuroHomeTpuyeckue
YpaBHEHUS:

10sin®x + 11sinx—8 =0
4sin®x — 11cosx— 11 =0

4sin” x + 9sin x cos x + 2cos” x =0
3tgx—8ctgx+10=0

3sin 2x + 8sin*x =7

10sin® x + 11sin 2x + 6c0s 2x = -6

Pelnte TpUroHOMeTpHYECKUe
yPaBHEHHUS:

6sin®x + 11sinx+4=0

4sin* x—cosx+1=0

3sin’ x + 11sin x cos x + 6cos” x =0
Stgx—8ctgx+6=0

sin 2x + 1 = 4cos? x

14cos® x + 3 = 3cos 2x — 10sin 2x

Perunre TpuronoMeTpuiecKue
ypaBHEHHUSI:

. dsin*x+sinx—5=0

6sin® x+ 7cos x— 1 =0

4sin® x + 11sin x cos x + 6cos* x =0
Stgx—6ctgx+13=0

3 —4sin® x = sin 2x

10sin 2x + 3cos 2x =—3 — 14sin’ x

Pewre TpuroHomMeTpuueckue
YpaBHEHHUSI:

1. 10cos’x—17cosx+6=0

2. 2cos’x+5sinx+5=0

3. 6sin®x+ 13sin x cos x +2cos? x =0
4 Stgx—4dctgx+8=0

5. 6cos®x + 13sin 2x =—10

6. 2sin”x + 6sin 2x = 7(1 + cos 2x)

Peruure TpuroHoMeTpudyeCcKue
yYpaBHEHMS:

1. 3cos’x—10cosx+7=0

2. 6cos’x+7sinx—1=0

3. 3sin?x+ 10sin x cos x+ 3cos* x =0
4. 6tgx—ldctgx+5=0

5. 6sin’x+7sin2x+4=0

6. 7 ="7sin 2x —9cos 2x

Pelnyte TpUroHOMETpUUYECKHE
YpaBHEHHUSI:

1. 4cos’x+cosx—5=0
2. 10cos*x—17sinx—16=0
sin” x + 6sin x cos x + 8 cos” x =0
4. 3tgx—o6betgx+7=0

2cos” x — 11sin 2x =12

2sin® x — 3sin 2x — 4cos 2x =4

Pewyite TpUroHOMETpUYECKHE
YpaBHEHHUS:

1. 8cos’x—10cosx—7=0

2. 4cos’x—sinx+1=0

3. 3sin®x+ 10sinx cos x +8cos® x =0
4. 2tgx—12ctgx+5=0

5. 14sin*x—11sin 2x =18

6. 2sin2x—3cos 2x=2

Peinte TpuroHomMeTpuueckue
YpaBHEHHUS:

1. 3sin*x—7sinx+4=0
6sin’x—11cosx—10=0

sin” x + 5sin x cos x + 6c0s” x = 0
4tgx—12ctgx+13=0

5 — 8cos® x = sin 2x

7sin 2x + 9cos 2x =7

Pewmte TpuroHoMeTpuuecKue
YPaBHEHMUS:

1. 6sin®x—7sinx—5=0

3sin? x + 10cos x— 10 =0

N

2sin®x + 11sinx cosx + 14cos*x=0
3tgx—Sctgx+14=0
10sin? x — sin 2x = 8cos? x

1 — 6¢os? x =2sin 2x + cos 2x

Peluire TPUrOHOMETPUYECKUE
ypaBHEHHUS:

1. 10sin*x—17sinx+6=0
Ssin®x—12cos x— 12=0

. 2sin® x+ 5sin x cos x +2cos’ x =0
4. Ttgx—12ctgx+8=0

3 + sin 2x = 8cos” x

. 2sin 2x+3cos 2x =-2

Pewure TPUTOHOMETPHUYIECKHNE
YPaBHEHHUS:

1. 3sin?x—5sinx—8=0

10sin®>x + 17cos x— 16 =0
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sin® x + 8sin x cos x + 12cos” x =0
4. 4t-gx-9ctgx+9=0
14sin® x — 4cos® x = 5sin 2x

1 — Ssin 2x — cos 2x = 12cos® x

Petite TpUrOHOMETPUUECKHE
ypaBHEHHUSI:

1. 10cos?x+ 17cosx+6=0

2. 3cos’x+ 10sinx—10=0

3. 2sin®x+9sinx cos x + 10cos* x =0
4. 3tgx—12ctgx+5=0

5. 10sin®x—3sin2x=38

6. 11sin 2x— 6cos” x + 8cos 2x = 8

PelunTe TPUrOHOMETPUYECKHE
ypaBHEHHUS:

1. 3cos’x—5cosx—8=0
8cos? x — l4sinx+1=0

5sin® x + 14sin x cos x + 8 cos” x = 0

4. 2tgx—9ctgx+3=0
5. sin?x—5cos® x = 2sin 2x
6. 5cos2x+5=8sin 2x — 6sin® x

Peuinte TpUroHOMETpUIECKHE
ypaBHEHHUsI:

1. 2cos’x—5cosx—7=0
2. 12cos*x+20sinx—19=0
5sin® x -+ 12sin x cos x + 4cos” x =0
4 2tgx—o6etgx+11=0

22sin® x — 9sin 2x =20

14cos? x — 2¢cos 2x = 9sin 2x — 2

Pemyre TPUroHOMETPUUECKHUE
ypaBHEHHS:

1. 8cos’x+ l4cosx—9=0
3cos?x+ Ssinx+5=0

2sin®x + 11sin x cos x + Scos” x =0
4. Stgx—3ctgx+14=0
2sin? x — 7sin 2x = 16cos” x

14sin’ x + 4cos 2x = 11sin 2x — 4




